@ 11

23

81
B) 1.3252525. ..



<H7]>oflM Aol sfFotA] o= A2 B

H7]

© 3.141592---




. ofu,

s

® 5 A 6 @ 7 B 9

@D 3



o0&

rel
9
8o
R
(o]

8

o o
o 7129

® 0.121212--- =0.12

@ 0.405405--- = 0.405
(3 1.234234... = 1.934 @ 1.06666--- = 1.06
3 —2.5555... — —92.5



o|J

23
90

® 0.23



6. 0.43-0.i15Z AxlstHA

@D 092 ? 0.98 3 0.98 @ 0.38 3 0.208



® 37§ @ 470 3 570




2?7 (2, a, n2 2

s

H, a+no 23

o &= 14

a
10"

o JgA
= T

—~

m i< K

B 75 @ 76 B 77

® 72



= I
T

22x5x%xa

g5}

@goz

Q 7 14 @ 36 B 42

@D 3



o a o] grol 2

i

447} Aekn

ot

A



ol
S

X
0

<k
T

o~
olJ
RS
3|
T
&
Y

@ 16 ® 20

® 14

12

1



27 _ 14 - =
12. 25 5 A =8HHE x, 5 A =fnHS y et 2w x-y & S

Fotofet,

YEE
-



13.

Ha

G T adw epE?

D 2.803 @ 2.803 3 2.803 @ 2.83 3 2.83



ol Ba1E AR whA 1.916 o] Hih

ol
i
o_‘_

2
£

@ 8 3 24 @ 083 B 83

@D 3



D2 stz el w, 2% 0994 A2le] 224 Totole



@ 100x - 10x @ 100x — x

@ 10x-x

3 1000x — 10x

@ 1000x — x



17. Yl & a, b, c, d 7t B2 22 0, Wl 5 22 ARH A d =
Lasha?

a=0.123, b=10.123, ¢ =0.123, d = 0.123

D a<b<c<d @ d<c<b<a ® a<d<c<b

@ b<c<d<a ® a<c<d<b






19. of® 5o 1§ 2 FoloF & A FRot] 16 S F

LG 27 0.6 o] HoATt. o® 5

YEE
-



ol
T
ol
ofg
Nfo
Ho
el
ol

Aot

B

)
<
<
v
sl
ulJ

==

<
3]

2 tehjolx]

.
& 5

RO %



